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Instructions for Candidates

1.
2.

Write your Roll No. on the top immediately on receipt of this question paper.

Each question has internal choice.

All questions are compulsory and carry equal marks.

(a)

(b)

(a)

Explain the meaning of previous year. What would be the previous year for

new business commenced during the financial year? Explain with example.

' )
Roa af = 3 wwwEw Bk ot @ e 1 By U ame @ g Rew ad
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Explain the terms “Person” and “Assessee”? (8)

i ik FuiRS = A e k)

OR/3r1al

“Income earned during previous year is normally chargeable to tax in the

assessment year”. Do you agree? Explain. (€)]
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(b)

N CY

(b)

2

Total income of Mr. R, aged 69 is Rs. 9,26,700. Compute the tax hability
for the assessment year 2014-15. Does it make any difference if it is Mrs.
R? {8)

et R &l 517 69 a8 @ 3R I w5 31 9,26,700 ® 21 Frufor af 2014 - 15
& fow we-afie @ s i @ A s s B Tem Ak 7w Rl
&7 '

State the conditions which an individual must fulfil in order to be a resident

and ordinarily resident in India. )

W W AR 3 A I B & foe =fam A v cws Y @ owe
ey, Ie@ Fforg)

Mr Kumar earns the following incomes during the financial year 2013-14;

Rs.

(i) Interest paid by Central Government

but received in London 40,000
(i) Pension from former employer in India,

received in America 64,000
(1))  Profits earned from business in Paris which is

controlled in India, half of the profits being

received in India. 1,60,000
(iv)  Dividend Income from Indian company and

received in India 80,000
v) Income from house property in U.K. and

received there 40,000

Determine the total income of Mr Kumar for the assessment year 2014-15 if he

is (i) resident, (ii) not ordinarily resident, and (i11) non-resident during the financial

year 2013-14. ' 8
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3

frer AR fasim ad 2013-14 ¥ Frafoiae sm afSta = 2

(a)

(b)

(i) He TR W fFw ™ AW Wy wed § ww

frar T = 40,000
(i) 9Rd ¥ W & Fgaw A Ym A g A

wE gl = 64,000
(i) e F wawm ¥ Il a1 Fm w® wwa A

faaw w@ T o R omen W oW Ra ¥ U

TH Ml = 1,60,000
(v) YRAT HER A aviw A oI i vk A R

o g = 80,000
(v) 3IF ¥ E wufa ¥ @ W A W W W = 40,000

frufoor o 2014-15 & forg et |ar 9t 7@ @ = Pk Sk ak =8 (i)
el B (i) wrumurE: swEr A8 2, R (jii) e af 2013- 14 A IFEE 2

OR/3raan

How does the tax liability of a not ordinary resident (NOR) differ from that

of a resident and ordinarily resident (ROR) under Income Tax Act? Explain
fully. Q)

T Ao a8 (NOR ) o1 o ofded fave varm s & it & siaeia
e 3R e a3 T e 37 wofa: smen Sk

Mr. X, a German national, came to India for the first time on 1-7-2007.
During the period from 1-7-2007 to 31-3-2014, he stayed in India as follows
- from 1-7-2007 to 31-10-2007; from 1-5-2008 to 31-10-2008; from
1-11-2009 to 31-12-2009 and from 1-7-2012 to 31-8-2013. During the
previous year ended on 31-3-2014, X’s income consisted of:

PT.O.
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Income from business in India Rs. 60,000
Interest from an Indian Company: Rs. 4,000

Dividend from non-Indian company received

in Germany but remitted to India Rs.15,000

Income from business in Germany

{controlled from India) Rs.25,000

Income from house property in Germany Rs. 18,000

Determine the gross total income of Mr. X for the assessment year 2014-

-~ - 15 after ascertaining his residential status for the purpose of income tax. (8)

ez X, v T o, 17.2007 i YEel SR YRS AT 4 17.2007 ¥ 3132014
TH TE RA ¥ T8 TR T : 17.2007 A 3110.2007 HF, 15.2008 V 3110.2008 TH,

12009 / 31122009 TF 3R 17.2012 A 3182013 WHI 3132014 F TG T

o af & 2o X &% s & ¥ wifde & -
WRY ¥ oEay ¥ AW 60,000 ®
WA w ¥ , 4,000 ®

R R S SRS PP,

U B WG YR A W9 fear 15,000 &
W A T ¥ s (vRa ¥ Faba) 25,000 ®
mﬁ:h%fgg#qﬁr%m 18,000 ®

et X &) fefen ad 2014 <15 & forg o a1 9@ T AR D R A IFHR
wadE fafy = ghiee =Y @ ar Fulon AR
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Mr. Shivam has furnished the folowing particulars for the year ending 31 march

2013.

)
(i1)
(iii)
(iv)
)
(vi)
(vii)
(vii)

(ix)

(x)

(x1)

(xii)

&xiv)

Salary — Rs 25,000 pm.

Bonus- 2 months basic salary.

Dearness Allowance- Rs1 5,000 pm.

Entertainment Allowance, Rs 10,000 for the year.

His own contribution to recognised provident fund Rs 35,000.
Employer’s contribution to P.F. Rs 35,000.

Interest on P.F. @ 8% per annum amounted to Rs 3,500. .
Education allowance for one child Rs 4,200 p.a.

Rent free house is provided by the company. House is situated in a city

where population is 26 lakh and employer pays rent of Rs 10,000 p.m.

Gas and eclectricity bills for the assessee paid by the employer amounted to
Rs 11,600.

He is provided with a car of engine capacity 1.8 litres, both for private and

official purposes. All expenses of running and maintenance are met by

employer.

Free Cook provided by employer (Salary 5000 p'.m)

Life insurance premium amounting to Rs 13,000 is also paid by employer.
Winnings from horse race Rs 10,000.

You are required to compute his taxable income from salary for the
Assessment Year 2014-15. (15)

P.TO.
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fire Bt X 31 WY 2013 Y T g2 a9 @ forg PreforRam @ wege e #

(i} ¥ - 25000 ® giwe

(i) Qv A A T YA AT

(iii) #ews s - 15000 ® Wiy A

(iv) SR s - 10000 & a9 & for

(v) wraae sifas fftn & wad o dnree 35000 ®
(vi) st fftr A P & Feem - 35000 ®

(vii) wfres B w s % of =1 o A = - 3500 ®
(viii) & w3 & fow fien-wawr - 4200 ® oy af

(ix) & gR fonn o o Ravmar 1 W v T X ? e N et 26 9§ iR
i 10000 & W fRmar @

| (x) PulRd & fre e ok Bod @ B P Y R Y 600 ® F 2

(xi) I¥ 18 TNeX T A T el FR PN T Tk wE B e @ W # IR =
T IR TEwEE & T @ FEe g Ry w2

(xii) Frirn g Fres @i R s 2 R 39 5000 | 9 AE 2
(xiii) < S G @ 13000 & § PR 3 S
 (xiv) e ¥ SR € Tl 10000 ® 21
vl ag 2014 -15 & fore 3o A JEE JEE a A I T AT R

OR/3A¥aT

3. (a) Discuss the tax treatment of ‘Pension’. @)

T A A 3fe ¥ DA o I 2, R S
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(b) Mr Z is employed at Delhi as the Finance manager of Shree Ltd. The
particulars of his salary for the previous year 2013-14 are as follows:
()] Basic salary Rs. 30,000 p.m.
(i)  Dearness Allowance (part of salary) Rs. 10,000 p.m.
(iii) Conveyance Allowance for personal purpose Rs. 5,000 p.m.
(ivy ~Commission on sales target achieved Rs. 45,000

(v)  House Rent Allowance Rs. 15,000 p.m.

The actual rent paid by him is Rs. 10,000 p.m. for an accommodation at

NOIDA till 31.12.2013. From 1.1.2014, the rent was increased to Rs.

20,000 p.m. Compute the taxable salary for the assessment your 2014-15.

C)

fiex Z of Rifite & e Teue @ w0 § e ¥ Pigam 21 Sea e af 2013-14
F v 397 & =R W YR 2

() T A ' 30,000 & waAw
(i) e wor (J9T = Rww) 10,000 & wfwrs
(i) = @ & g @@ W 5,000 & ufoe.

(v) Fdl & w8 @ U aR o W SR 45,000 &
v) 5 s 15,000 & R

Fvg ¥ e @ fw 31122013 ¥ 112014 96 D Fw 10000 ® v ARdiES
fan ge fomn 3K 78 fFaar Tgaw 20,000ﬁuﬁ’fma=.tﬁmwn'

e € 201415 @ v FX A I A I@ W FAHAT R

PTO.
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4. Mr Ram Gopal is the owner of a business. Following is his Profit and Loss

A/c for the year ended on 31-3-2014:

Rs. Rs.
Establishment charges 5,110 Gross profit 60,870
Rent, rates and taxes 2,900 Interest on

Govt-securities(gross) 5,350

Sundry expenses 7,050 Rent form property 5,400
Household expenses - 1,880

Provision for bad debts 1,200
Loss on sale of motor car (used
for private purpose) 1,800

Insurance premium (including life

insurance of Rs. 1,790) 2,880
Interest on bank loan 1,380
Provision for depreciation 6,400
Net profit 41,020
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Additional information:

(1) Bad debts written off during the year- Rs. 650.
(i)  Admissible depreciation as per Income-tax rules - Rs.1,600.

(i) The assessee is running his business in a rented property, half of
which is used by him for his own residence. Rent of Rs.2,400 in
respect of entire house is included in rent, rates and taxes. The balance
of Rs.500 is on the account of municipal tax paid for the entire

property.
Compute the business income of Mr. Ram Gopal for the assessment year
2014-15. . (15)

firex T MU T A TR 81 31.3.2014 Y G T @ T I wnT Ak s
o T URR 2

® &®
W o 5,110 ¥&HdA W 60,870
formmn, & R = 2,900 werd wfefodt 5,350
S (Fhet)
fafay = 7,050 @ufa & fmn 5,400
W @ 1,880
amem ol & o =EEE 1,200

A FR F94 | T (S FBer 1,800
wa ¥ AW W @A)
do - (Se W@ R 2,880

790 & frem =)

PTO.
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10
4% | @ =W 1,380
Adewd & fow wEen 6,400
[REEC 41,020 e
71.620 71,620

AfRea ey

(i)

T4 T J9eT WO 9 WH S T - 650 ®

(i) sm = e @ SiEr e TREmE - 1600 ®

(iii) Freife fsae =t wafty % e erem o @ @ R o T Ses 23 g 2

4. (a)

(b)

- yaE @ i vaw ¥ forn w21 R & 3R & ¥ 2400 = T aR wwH D

fore ket 21 3w 500 = Wl wof @ e =Rfioe W @ A ¥ Ry
ﬁmmmﬁﬁuﬁwaﬁzum—ls = o waam A s = sfvweT Hifw

OR/32rar

Explain the provisions regarding taxability of ‘depreciation’ under Income
tax Act, 1961. ' (7)

A T AT 1961 B HeRTT Ieae® D o Afded & TR N =Eens « e
o

Mrs Aruna is employed in Fair transactions Ltd @ 15,000 p.m. She owns

a house at Delhi whose construction was completed on 31 March 2011.
Since then, she has been residing in this house. However, she has let out the
house from 1.4.2013 to her employer @ 5,000 p.m. The company has
allotted the house to Mrs. Aruna. Other particulars in respect of the house

for the financial year 2013-14 are given below:
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5.

11

Municipal \{alue Rs. 5,000 p.a.; Municipal tax paid Rs. 6,000; she borrowed
Rs 1,25,000 from ICICI on 1.04.2008 @ 12% p.a. interest for the
construction of the house. She refunded entire loan in lump sum on 1st

October 2013.

Compute her taxable income from house property for the A.Y. 2014-15.

(8)
e s B gideEH ffes F 15000 ® TioAE 39T W IW W @ T @@
e ¥ et ¥ v 7w 2 e Fsin &/ 31 w1 2011 & 9@ 2 @ an o
A 6 @ Mo A © W T Tafd 38 8 A 1.4.2013 H J9 P @t 5000.
% yfwre famw w 2 fGan ot & 30w @l PR seon A st @R feam
W AEE & aR A faeig ad 201304 & fow s o @ R #

wfAfad A= 5000 & 9 a9 3; =RRTA 7 6000 ® fiw §; 1,25000 & JEA
14.2008 ¥ [CICI §F ¥ 12% 9fy 3 9 R ¥ a1 W forg A o1 1 srreem 2013

I T XA AR WA qA9E F A M

frftor af 2014-15 & fore @ Gufa ¥ JEH T A s T A HC

Write Short Notes (Any three) (5x3)
(i} Taxability of Rent free accommodation

(ii) Taxable incomes included under the head income from business and profession
(i) Allowed deductions under income from house property

(iv) Residential Status of a “Company”

(v) Income tax treatment of Statutory Provident Fund of a person employed in

a Government Office.

(vi) Computation of Gross Total Income of an Individual

PTO.



117 12
wiere Reaforr fufee (fe=di i w)
(=) forar = Rerget v <t v
(|) e AR 99 3 o ke @ siente W @) A s
(1) I dufa ¥ s @ siwia wea s
(o) = &t warE Rufy
(¥) il vww A frgaa =fdw A wfife swhs (G © @ 9 wmen
() e = wwet wer s w1 ST

(100)
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